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Solutions to smp-1718-3/MONB

Problem quickname: 1718

1

Divide by two.
a) 32+2=16
d) 128 =2 =64
g) 16 -2 =28

j) 166 =2 =83
2)

Divide by two.
a)d+2=2

3)

Divide by two.
a) 48 -2 =24
d) 76 -2 =38
h) 86 +2 =43
4)

Divide by two.
a) 108 +2 =179
d)24+2=12
g) 152 +2=176
j) 62 +2 =31
Good Luck!
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Worksheet

b) 180 + 2 = 90 c) 56 + 2 = 28

e) 46 + 2 = 23 f) 182 + 2 =91
h) 22 +2 =11 i) 114 + 2 =57
b) 54 + 2 = 27 )50 =2 =25

b) 14 +2=7 c) 68 2 =34
e) 28 +2 =14 f)8=+2=14

i) 78 =2 =39 i) 98 =2 = 49

b) 176 + 2 = 88 )48 +2 =24
¢) 86 + 2 = 43 £) 22 +2 =11

h) 164 + 2 = 82 )8+2=4
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d) 76 + 2 = 38

g) 58 = 2 = 29
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